
קרנפים - לומדים פה חשבון

דף עבודה בחשבון לכיתה ח
אלגברה

𝐷ש:נתון(1 = 𝑥 + 𝑦     𝐹 = 𝑥 − 𝑦 − 3

הבאים:הביטוייםאתyוxבאמצעותבטאו

𝐷 · 𝐹 =  

𝐷 · (𝐹 − 2𝐷) =  

(𝐷 + 𝐹) · (𝐷 − 𝐹) =  

𝑁ש:נתון(2 = 𝑥 − 2𝑦     𝑀 = 2𝑥 + 3𝑦 + 1

הבאים:הביטוייםאתyוxבאמצעותבטאו

2 · (𝑀 + 𝑁) =  

𝑀 · (𝑁 − 𝑀) =  

(𝑀 + 𝑁) · (𝑁 + 𝑀) =  

𝐶ש:נתון(3 = 5𝑥 + 3𝑦     𝐵 = 𝑥 + 8𝑦

הבאים:הביטוייםאתyוxבאמצעותבטאו

𝐶 · (𝐶 + 𝐵) =  

𝐵 · (𝐵 − 𝐶) =  

(𝐵 + 𝐶) · 𝐵 =  
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קרנפים - לומדים פה חשבון

𝐴ש:נתון(4 = 𝑥 − 𝑦  ,      𝐵 = 2𝑥 + 3  ,  𝐶 = 𝑦 + 1

הבאים:הביטוייםאתyוxבאמצעותבטאו

𝐴 · (𝐶 + 𝐴 + 𝐵) =  

(𝐴 − 𝐵) · (𝐵 − 𝐶) =  

(𝐶 + 𝐵) · (𝐴 + 𝐶) =  

𝑅ש:נתון(5 = 𝑥 + 𝑦  ,      𝑇 = 𝑦 + 1  ,  𝑆 = 2𝑥 − 1

הבאים:הביטוייםאתyוxבאמצעותבטאו

𝑇 · (𝑅 + 𝑇 − 𝑆) =  

(𝑆 − 𝑅) · (𝑇 + 𝑆) =  

(𝑆 + 𝑇) · (𝑇 + 𝑅) =  

𝑀ש:נתון(6 = 2(𝑥 + 𝑦)  ,    𝐿 = 3𝑦 − 1 ,  𝐾 = 2𝑐 + 𝑦

הבאים:הביטוייםאתyוxבאמצעותבטאו

𝐾 · (𝐿 − 𝑀) =  

(𝐾 + 𝐿) · (𝐿 − 𝑀) =  

(𝑀 + 𝐿) · (𝐾 + 𝑀) =  
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